Sessional Examination, 2024
B. Com 4" Semester
Sub: Business Mathematics

Full Marks : 30 Time : 1 hr
1. Define: (Any one) 1
wkeEl ¢ (Resie @ o)

(i) Null Matrix (f& Glierss)
(ii) Diagonal Matrix (R 3ieres)
State two differences between determinant and matrices.?

el I GIeTea SIeE Y61 1< Srag2l 541 |

Evaluate (9 <@ <541) ¢ 1
j & Or(@am) |3 -1 -1
1 2 -3
Fill in the blanks: (Any one) 1
AT J1Z ST ¢ (FRTpiee «oh)
(i) %(TP)z .......

ii logx)=.......
(i) +-(logx)=
(iii) The variable associated with linear programming

problems are called
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Solve the following system of equations by using
Cramer's rule: 6
(FNIRS FTACICE ©oTq AT E0! T4 1

2Xx+y+z=17

3x-y—-z=-2

X+2y-3z=-4

Or/ FNi3al

Find (i) the average profit function and (ii) the marginal
profit function for the following total profit function (P).
Evaluate them at Q =2,
o 0 @ T (P)F A (1) o #lre woil i (i) 2
S ot e 991 | Q = 2 © B8 Wi fefy <51 ¢

P=Q*-12Q+20

If (aff) A = H ﬂ find (fefa 1) — !
(A=21)(A-31)
Or/ 9331

1
If (@) A = [2 21] » show that ((weai (@) —

A’-31=2A



Find the inverse of the matrix: 6

wod Gl ol Afetss Sfeedl ¢

1 0 2
A=|2 -1 3
4 1 8

Or/ i34t
A company is considering which of the three methods of
production it should use in producing three goods A, B
and C. The amount each goods produced by each method
is shown in the following matrix:
SIB! 2T (FIRCE! 2eleT eicalel SR <2 Rebat Fi 2l
otz | RS0 2eEna @il Sestia i efefiy AT w2
©od GIIeT=rore (MYEdl (02 2

A BC

Method (2T -1 [4 8 2
Method (2iefie) =2 |5 7 1
Method (&) -3 |5 3 9

The column matrix [10 4 8] represents the profit
per unit for A, Band C is that order. Using matrix
multiplication, find which method miximizes total profit.

ws G [10 4 8]a A A, Bow: C 3 2fe
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8. Mention four uses of LPP.

4
&R el BIfRG! TR SEe 4 |
Or/ i34l
Show that (CW¥sdl (F) —
—a’> ab ac
ab -b’ bc|=4a’b’c?
ac bc -c?
Or/ <izal
Find the sum to n" term (n #vta1 CAsIEra1 Wl 1) 2
4+44+444 + ...
9. Using graphical method, show the following LPP : 6

Maximize Z = 5x + 3y

Subjectto 2x +y <1000

X <400
y <700
andx,y >0

Or/ «ifza

Findx,y, zand t, if (x, y, z SlI% t 9 W fefg w41, 3fr) —

3[" Y}: X 6 4| 4 X+Yy
Z X -1 2t Z+1 3



